15

1-1.

0.5M KPB ( pH7.0)

1) 0.5 M KH,PO,
KH,PO,=136.09

0.5% 136.09% 500/1000 =34.609 g
34.6¢g
500ml
2) 0.5 M K,HPO,
KzHPO4: 174.18

0.5% 174.18x 500/1000 = 43.545 ¢
43.5¢ 500

H1) 2 pH7.0

(+) — Biotin = 244.31

2 10
005¢g 50 50 ml
I mg/ ml
1 ng / ml
1) 1 mg/ml 10ul
990ul (100 ) - 10pg / ml

2) Hiowl 990ul 100

- 100 ng / ml
3)2)10ul 990ul 100

-1 ng/ml
0.9% NaCl
NaCl=98.08
1) NaCl4.5g

500ml
2) 12x120m/m Sml
3) 121 Smin
Agar Powder
1) 3.6g 1.5g
2) 100ml
3) Sml 15ml
5 121
1
1) 3.6g
2) 100ml
3) 12x100mm
121 1
7.7¢g
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100ml

1-2.
2000rpm,5min
TOMY LC-122
—4 —
*10ul
1-3.

1) Lactobacillus plantarum ATCC 8014

3000rpm,10
2) 0.9 NaCl 5ml
3000rpm,5 0.9
NaCl 5ml
3) 0.9 NaCl
Sml
0.05ml 0.9 NaCl 5ml
Lactobacillus plantarum ATCC
8014
37 20
( 3
)
1) (12x75mm)
3
No.0 1
2)
5 121 , 1 )
3) 50ul
4) 37 21
5) 660nm No.0O
0
6)
1-4.

(ng / tube)

(ng / day)
= (ng / tube) / 10pulx10%x(
ml)x
10pl =
10° = ul ml
1.
(0.358-0.048)/3.487 /10x10°x914x8=
6500ng/day
=0.358 y=3.487x+0.048

914ml =8

2 20%

(0.127 — 0.022) / 2.355 / 10x10°x25 =
111ng/day

=0.127 y=2.355x+0.022
25ml

2-1.
225M
H,SO, =98.08

98.08 (mol / I)x 225 (M)x 10> x 10(ml) =

2.2068

H,S04 2.207 g 10 ml
0.5MKPB bufter (pH7.0)

0.5% NaCl I-1.

2-2.
2-3.
1-3.
2-4,
(ng / tube)
(ng )= ng/tube
x xA/BxC/D
A (2)
B (2)
C ( lg+ 1ml+225M 1 ml)
(2
D (d (g)/10 pl
B
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ABS(660nm)

y =2314x +0.025 r =0.998

0.30
0.25 -
0.20 -
0.15 -
0.10 -+
0.05 -~

0.00 & : :
000 005 010 0.15

Biotin(ng/tube)

— @)
19
— 19B)
— Iml 225M Im 1 ©
— 121 1 1
YAMAMOTO 2000mpm  5m n
— 045 ul
im1 @
10ul
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5.5

12.5

11.0

0.25

0.25

10.0

0.1

0.1

0.005

1L

14

0.4

DL-

0.2

0.02

0.02

0.02

0.0002

0.0004

0.0002

0.0004

0.001

0.0008

0.4

0.02

0.02

20

40
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1ng/ ml biotin

(ng/ 0.5M KPB

No. tube) (ml) (ub) pH7.0(ul) (uh)

1 0 1 0 200 800

2 0.02 1 20 200 780

3 0.04 1 40 200 760

4 0.06 1 60 200 740

5 0.08 1 80 200 720

6 0.1 1 100 200 700
Sumple X 1 10 200 790
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